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Exercise

1.1If A = ¢ the empty set, then write the number of elements in P(A).

o Watch Video Solution

2.1f A={1,2}and B = {3, 4} then write A x B.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DA5Xx0UAX26S
https://dl.doubtnut.com/l/_Y2HWhtt5efpl

3. Convert 240° into radian measure.

o Watch Video Solution

4. write the additive inverse of the complex number 4-3i

o Watch Video Solution

5.1f "Cg = "Cy find the value of 'n'.

o Watch Video Solution

n2
6.I1f a, = 2—n, then find a7.

o Watch Video Solution

7.Find the slope of the time passing through the points (3,-2) and ( -1,4)


https://dl.doubtnut.com/l/_ziojVMNbW8UO
https://dl.doubtnut.com/l/_AxkupvIFyQs5
https://dl.doubtnut.com/l/_9o5exCfozdKA
https://dl.doubtnut.com/l/_plAyBlP6YoRh
https://dl.doubtnut.com/l/_ChMTXKcEL6oC

o Watch Video Solution

8. Evaluate Lim az +b
z—-0cr +1

o Watch Video Solution

9. Write the negation of the statement " The number 2 is greater then 7"

° Watch Video Solution

10. A coin is tossed 3 times,Write the sample space.

o Watch Video Solution

M If U={1,2,34,56,7,8 94 = {1,2,3,4} and B = {2, 4, 6, 8},

then find (AU B) .

o Watch Video Solution



https://dl.doubtnut.com/l/_ChMTXKcEL6oC
https://dl.doubtnut.com/l/_2dOSlvALkOio
https://dl.doubtnut.com/l/_73fMjagSlqkj
https://dl.doubtnut.com/l/_562ZrJobejuZ
https://dl.doubtnut.com/l/_3c1U9KufNaJo

12.1F A = {1,2,3,4,5,6}, B = (2,4, 6,8}, then find A-B and B - A.

o Watch Video Solution

13. Let A={1,2,3,4,5,6}. Define a relation R form A to A by R={(x,y) : y=x+1}
(i) Depict this relation using an arrow diagram.

(ii) Write down the domain, codmain and range of R.

o Watch Video Solution

14. Find the radius of the circle in which a central angle of 60° intercepts

22
an arc of length 374 cm (use m = —)

7

° Watch Video Solution

. . 3lx
15. Find the value of sin =/

r D Y


https://dl.doubtnut.com/l/_3c1U9KufNaJo
https://dl.doubtnut.com/l/_gtrrbAz9kKjp
https://dl.doubtnut.com/l/_BDiJ4BBIde6g
https://dl.doubtnut.com/l/_HLoNwcd0zDLJ
https://dl.doubtnut.com/l/_M4eDJUHXGNcX

| o Watch Video Solution

16. Find the modulus and the argument of the complex number — /3 + i

o Watch Video Solution

17. Solve 7z 4+ 3 < bz + 9. Show the graph of the solution on number

line.

o Watch Video Solution

18. Find the equation of the line, which makes intercepts -3 and 2 on X

and Y-axes respectively.

o Watch Video Solution

19. Find the distance of the point (3,-5) from the line 3z — 4y — 26 = 0



https://dl.doubtnut.com/l/_M4eDJUHXGNcX
https://dl.doubtnut.com/l/_Q8xwzVVUOktO
https://dl.doubtnut.com/l/_TZVfwYnCo3K9
https://dl.doubtnut.com/l/_3f84C9T9SYsy
https://dl.doubtnut.com/l/_eUZO6mYnFO8H

| o Watch Video Solution

20. The centroid of a triangle ABC is at the point (1,1,1) . If the co-ordinates
of A and B are (3, -5,7} and (-1,7,6) respectively find the coordinates of the

point C.

° Watch Video Solution

T
21. Ecaluate Lt (sina - m)
sinb

z—0

° Watch Video Solution

22. Write the converse and contrapositive of the statement"If x is prime

then x is odd".

° Watch Video Solution



https://dl.doubtnut.com/l/_eUZO6mYnFO8H
https://dl.doubtnut.com/l/_KtqPZquNlSmE
https://dl.doubtnut.com/l/_SuC7TYt7tvOx
https://dl.doubtnut.com/l/_PjOBR5gYAhFb

23. The coefficient of variation for a distribution is 60 and standard

deviation is 21. Find the arithmetic mean.

° Watch Video Solution

24. A and B are two events such that P(A) =0.54,P(B) =0.69 and
P(ANB) =0.35.Find

(a)P(A U B)(i5)P(A’ N B’)(iii)P(A N B’)(iv)P(BN A’)

° Watch Video Solution

25. In a class of 35 students, 24 like to play cricket and 16 like to play
football. Also, each student likes to play at least one of the two games.

How many students like to play both cricket and football ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BYYQ39l80u34
https://dl.doubtnut.com/l/_ImcKwoaPj0pb
https://dl.doubtnut.com/l/_6Ivnjfw4qSFK

26. Let f(z) = z* and g(z) = 2z + 1 be two real functions. Find

(f+ 9)(@), ( — 9)(), (f9) (@), (—)(x).

g

o Watch Video Solution

27. Let f(z) = z® and g(z) = 2z + 1 be two real functions. Find

(f+ 9)(@), ( — 9)(), (f9) (@), (i)(w).

g

o Watch Video Solution

28. Let f(x) = 2 and g(x) =2z + 1 be two real functions. Find

(f+ 9)(@), ( — 9)(), (f) (@), (i)(x).

g

o Watch Video Solution

29. Find the general solution of the equation cos 2z + 3sinz = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_KuOO6Ocr7KEr
https://dl.doubtnut.com/l/_h4vh0LJiPOiu
https://dl.doubtnut.com/l/_F2knn39hWJ7v
https://dl.doubtnut.com/l/_vJsQ8wRjLt8R

30.Solve /222 + . + /2 =10

° Watch Video Solution

14+4\™
31.1f ( 1 ) = 1, then find the least positive integral value of m.
—1

o Watch Video Solution

32.Findr,if5 x P, = 6 x °P,_;.

o Watch Video Solution

10
33.Find the middle term in the expansion of (% + Qy)

o Watch Video Solution



https://dl.doubtnut.com/l/_vJsQ8wRjLt8R
https://dl.doubtnut.com/l/_OUccxEvW2eHo
https://dl.doubtnut.com/l/_8zDfAm10qccY
https://dl.doubtnut.com/l/_4gV4CH9DXCSY
https://dl.doubtnut.com/l/_KcQIXU4lALDt
https://dl.doubtnut.com/l/_cfO3J5MTHPFm

34.1n an AP if m'" term is n and n'* term is m, where m # n, find the

pth term.

o Watch Video Solution

35. Insert five numbers between 8 and 26 such that the resulting

sequence is in AP.

o Watch Video Solution

36. Find the coordinates of the vertices, length of the latus rectum and

eccentricity of the ellipse

2 2
49 36

° Watch Video Solution

37. Compute the derivative of sinx using first principal method ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cfO3J5MTHPFm
https://dl.doubtnut.com/l/_p9autyIA3ry6
https://dl.doubtnut.com/l/_4Lyq9RIUPEEo
https://dl.doubtnut.com/l/_U06UZSn2NGna

38. Verify by the method of contradiction P: /5 is irrational.

o Watch Video Solution

39. A die is thrown. Find the probability that
(i) A prime number will appear.
(ii) Anumber greater than or equal to 3 will appear.

(iii) Anumber more than 6 will appear.

o Watch Video Solution

40. A die is thrown.Write the sample space.Also find the probability of the

event"A number greater than or equal to 3 will appear”.

o Watch Video Solution



https://dl.doubtnut.com/l/_U06UZSn2NGna
https://dl.doubtnut.com/l/_sORuOBf3zv9s
https://dl.doubtnut.com/l/_Dd8CiKjTpjiW
https://dl.doubtnut.com/l/_FqhsDVcQ98CC

41. A die is thrown. Find the probability that
(i) A prime number will appear.
(ii) A number greater than or equal to 3 will appear.

(iii) A number more than 6 will appear.

° Watch Video Solution

42. Out of 100 students,two sections of 40 and 60 are formed.If you and
your friend are among the 100 students,what is the probability that
(@) you both enter the same section ?( b) you both enter the different

section?

o Watch Video Solution

43. Draw the graph of the signum function write its domain and range.

o Watch Video Solution



https://dl.doubtnut.com/l/_dmcNHEJaF8T0
https://dl.doubtnut.com/l/_vafxJMy0A014
https://dl.doubtnut.com/l/_SeRJJQnZDECa
https://dl.doubtnut.com/l/_atOnECExG83x

sinbx — 2sin3x + sinx
44, Prove that : = tanzx
CcosSHr — cos

o Watch Video Solution

45,

1.2423434+......c....... +n(n+1) = =(n+ 1)(n+2)Vn € N.

w| 3

o Watch Video Solution

46. Solve the following system of inequalities graphivally

2r+y> +4,x+y<3,2x —3y <6,

o Watch Video Solution

47. What is the number of ways of choosing 4 cards from a pack of 52

cards? In how many of these
(1) Four cards are of same suit

(2) Four cards belong to four different suits.


https://dl.doubtnut.com/l/_atOnECExG83x
https://dl.doubtnut.com/l/_LJ1964nyxofP
https://dl.doubtnut.com/l/_NzIp9WNHY9hX
https://dl.doubtnut.com/l/_9wHgF6G8sQxU

(3) Four face cards

(4) Two cards are red cards and two are black cards.

o Watch Video Solution

48. What is the number of ways of choosing 4 cards from a pack of 52
cards? In how many of these

(1) Four cards are of same suit

(2) Four cards belong to four different suits.

(3) Four face cards

(4) Two cards are red cards and two are black cards.

o Watch Video Solution

49. What is the number of ways of choosing 4 cards from a pack of 52
cards? In how many of these
(1) Four cards are of same suit

(2) Four cards belong to four different suits.


https://dl.doubtnut.com/l/_9wHgF6G8sQxU
https://dl.doubtnut.com/l/_PORh6Bg3IQE8
https://dl.doubtnut.com/l/_AM2mAqZvnUjf

(3) Four face cards

(4) Two cards are red cards and two are black cards.

o Watch Video Solution

50. What is the number of ways of choosing 4 cards from a pack of 52
cards ? In how many of these

Two cards are red cards and two are black cards.

o Watch Video Solution

51. Prove that the Binomial theorem
(a4 b)" = "Cha™ + "Cra™ " 'b+ "Coa" 2* +.."C,b"  for  any

positive integer 'n'".

o Watch Video Solution



https://dl.doubtnut.com/l/_AM2mAqZvnUjf
https://dl.doubtnut.com/l/_i5V6G180NbpF
https://dl.doubtnut.com/l/_Iy2IsyGAfsG2

52. Derive the formula to find the angle between two lines with slopes

my; and my

° Watch Video Solution

53. Derive the formula to find the co-ordinates of a point which divide the
line joining the points A(z1, yi, 21) and B(xs, ys, 29)internally in the

ratio m: n.

o Watch Video Solution

sinx
54.Prove that lim ( = 1) ?
z—0 X

o Watch Video Solution

55. (a)Derive geometrically that cos(xz + y) = cosz cosy — sinzsiny

.Hence deduce the valueof cos 75°



https://dl.doubtnut.com/l/_aX6gW1ChqgFu
https://dl.doubtnut.com/l/_6FkFG16dah4y
https://dl.doubtnut.com/l/_850rgmdqcsFt
https://dl.doubtnut.com/l/_SgX038rRCbZe

| o Watch Video Solution

56. Find the sum to n terms of the series

1 N 1 N 1
1x 2 2x3 3 x4

o Watch Video Solution

2 2

57.Find the equation of hyperbola in the form :13_2 — 'Z—z
a

length of transverse axis = 10 and eccentricity = 2.

= 1, given that

o Watch Video Solution

CL’5 — COS T

58. (b) Find the derivative of ————— with respect to x.
sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_SgX038rRCbZe
https://dl.doubtnut.com/l/_tCFCzctx4kCx
https://dl.doubtnut.com/l/_Xs9mIjxGABJ2
https://dl.doubtnut.com/l/_ZMOjspPyvXpq

